
701 ENDURO 2021 <2021><EU><F2603U1>
MASK, FENDERS

55681

Pos Part Number Description Additional Text Quantity

1 25008001000AB Head lamp mask 1.00

2 27108001010DB Headlight mask bottom part 1.00

3 0081050121 EJOT PT screw K50x12 only for US and SixDays 4.00

4 54603048200 RANGE CHANGE METAL NUT M5 8.00

5 25008010000ABA Front fender with Decal 1.00

6 27008016100 License plate holder, upper pa 1.00

7 0025060126 HH collar screw M6x12 TX30 2.00

8 0025060166 HH collar screw M6x16 TX30 4.00

9 69008021160 special screw M5x12 6.00



10 69008021080 clip nut M5 2.00

11 83008000015 SPECIAL SCREW M6X15X3 2.00

12 58412080400 Rear reflector red 1.00

13 27008016050 Number plate carrier, low. par 1.00

14 27012009000 Passenger grip, right 1.00

15 27012008000 Passenger grip, left 1.00

16 0035080406 AH-COLLAR SCREW M8X40 ISA45 4.00

17 27008013000AB Rear Fender 1.00

18 83008100015 Special screw M6x15x5.5 2.00

19 58412080300 REFLECTOR YELLOW ''CEV'' ONLY USA & AUS 2.00

20 60006001023 Rubber grommet, standby gas se 1.00

21 60408061050 RUBBER 14X6.5X2.3MM 2.00

22 60408061060 LOCK WASHER D5 2.00


